Ca pstanAG

PinPoint™ Il

Gateway Power Hub
Mounting Kit

RoGator C Series Spravers
Kit # 118703-010

Installation Instructions

prodsupport@capstanag.com | 855-628-7722 | www.capstanag.com

118155-012 Rev. A | Revised 12/2018 | ©2018 Capstan Ag Systems, Inc.



All trademarks are owned by Capstan Ag Systems, Inc. This product may be covered by
one or more U.S. Patents. For more information go to www.BlendedPulse.com

©2018 Capstan Ag Systems, Inc. All rights reserved. No part of this publication may be reproduced, stored in a
retrieval system, or transmited, in any form or by means electronic, mechanical, photocopy,
or otherwise, without prior written permission of Capstan Ag Systems, Inc.



Ca PS tan Installation Instructions

Chapter 1: Installation Instructions

Parts List—Kit 118703-010

This is the parts list for the Gateway power hub mount kit for RoGator C Series Sprayers

Part Number Description Qty
118640-119 Gateway Power Hub Mounting Bracket 2
713600-003 3/8 Flat Washer 8
713501-510 3/8-16 Hex Nut 4
713501-411 3/8-16 x 2 % Hex Bolt 4
713600-008 3/8 Split Lock Washer 4

Kit Installation—Kit 118703-010

Fig. 1:
1. Identify a mounting location (7)—at the bottom of the main boom frame just left of center.

© 2018 Capstan Ag Systems, Inc. 3 Gateway Power Hub Mount Kit



w=wCa psta N Installation Instructions

Fig. 2:
2. Install the mounting brackets (7) and the gateway power hub (2) with the supplied hardware.

Make sure to use the holes (3) shown on the sides of gateway power hub.

Note: The gateway power hub cannot be more than 6.5 inches above the bar (4)

© 2018 Capstan Ag Systems, Inc. 4 Gateway Power Hub Mount Kit



	Installation Instructions
	Parts List—Kit 118703-010
	Kit Installation—Kit 118703-010


